5 A Atole] A=j7t 7Hg Fh2 A2 ol AL
@ (1, 1), (2, 3) @ (-3,-2), (0, 0)
® (-2, 0), (0, 5) @ (2, 1), (3,-5)

® (-4, 4), (2,-2)



2.  ©& a™a Zo] /B = 60°, «C = 45° ¢l AABC ©|4] AHLBC ©]Z,
AB =8cm ¢ w, AC ¢] Zo]&?

@ 4cm @ 4+3cm ® 4+6cm
@ 8Scm ® 8+6cm



& A7 RO x, y O AS F
249} g ol g5te] 7iu]2 Liehy

4
D x= 4tzn23° Y= si£123°
@ x= sin423° ¥ = tan423°
® x= sin 23° ’ y= cos 23°
ﬁ Y = 4sin423°

® x=4tan23° ,y=

sin 23°
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& ABCD 2] H°]7} 36 V2em? & o,

l

® 8cm @ 10cm @ 12cm

Zte] 2717} 45° 91 S AT
o] do]& FotA?
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@ 14cm ® 16cm



3} 2ol 910 of 933k AF2He ABCD © 7 Wt

E
ZY7+ E,F,G,H 2 ok& /B = 90° ©|1 AB = 6,C
N

e
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D=94¥ u &0 9 Htx52?




@ 17cm

@ 20cm




A40] 4 3]0 AR 428 AJ A 0] 80,82,86,76 °|t. tha AlAA Z
A= Wotof Btol 84 o] HA=71?

=

® 90A @ 924 ® 944 @ 96A ® 98 A
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55°7% ~ 65" | 3
657 ~ 75 | 4
7578 < 85 |1
85°1 <~ o5 [ 1
A 8
® 80 @ 90 ® 100
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o, 2(A+B)+C 9 gt
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A,B,C 21!

@ 107 @ 127 @ 14rn ® 167

@ 8r



3 ABC



1 | = o |y

®© ® ©@ ©® ©

Hi

© 3V34em, Fo
: 3434em, B :
: 3v34em, B0
© 4V34cm, Fo
D 44/34cm, B



12. o3 Z2"olA oABCD 7t ol T o, zx, 2y & 2712 HIZ2 7
#Az)o] A AL N2H?

O zx=99° 2y = 129° @ 1x=99° Ly = 130°
® zx =100°, 2y = 130° @ /x =100°, 2y = 140°

® /x=110°, Ly = 140°



13.

ohe I Ze] £ 90, 0 o 35

[¢)

A CD & 353 AB 9] Aol A

hm
P oA ¥hdt}. PA = lem , AB = 4cm
o off, CD ¢] Zol]&?

@ 4cem @ 2+v3cm
@ 2+5cm ® 2+vV6em

® 3V2cm



14. 13894 (BAD = /CAD ©]11, AD =

10cm , DE = 6cm , AB = 5cm €

AC 9] Fo]=?

@ 8cm

@ 6.5cm

@ 7.5cm

® 6cm




= AEDG

O AABC

DH=GE=CF

DH

@ AC

® FG

=b-a

@ oABED = oCFGH + AAHD +

AABC + AEFB + AGDE

‘_u_mo
N

A

JZnO
i

® oCFGH



16. the T3} e AZHY ABCD ol HAC L A
BD % uf, OC 9] ol & Tstoier.

@ 5 @ 4
® 25 @ 1+ V14
® 313




17. e 199 ﬂow =3 AB, CD 9 ZHE P & sk#}. /APC = 60°
< off, 5.0ptAC + 5.0ptBD 2] Aoj= o] Yol =] Aolo] & ujjol
7}?



18. & J"A A PQ = F =
=] = = Q =5 '({)i] A 99
A o] Ao Hgtet PBQ = 112° Y

&

P 1120 Q

D 60 @ 64° @ 68° @ 72° ® 76°



19. o3 O3 Zo] & A7 A A Sl LABC = /BDC =
90°,
/DBC = 45°, /BAC = 60° ©] 1, DC = 3V2cm ¢ o}, 42 FHol
AEBC 9] Yo]&?

@ 6(V3-1)cm? @ 6(V3+1)em?
® 9(V3-1)cm? @ 27(V3 - 1)cm?
® 12(V3 -1)cm?



20. o= I™NA AQ = ¥ 0 9 Aol
AHLBC o|t}. /BAQ = /CAH 0|1 ¢
O 9 ¥R Zo] dolEx 2t & o, 3x &
Tstofat

i)

@ 24 @ 25 3 26




